EER

BATRETH CTOREERFANMCDISHEAFTHEEIOIEL (FH2FE)

READERZXIT S

KEADEIXT S

IKEENDKEEYIZXET S

LE?'—@ SHEHFTHHE SHEATITHEE EMEAFTHHE
IR MXETF & (10°m*/4F) MXETF £ (10°L/4E) mXAETH £ (10°L/ %)
1 |JfFEmERX 4,246,795 468 1B & T 4,640,614 7 14,017,915
2 |tERRT 839,680,849 = fbh 491 513|BRH 7,965,113
3 | AR I ET 135,497,392| A i R X 261,162| £ 6,909,802
4 |HEET 56,165,487|f=2 M 250,497 &R TH 6,273,643
5 =20 54,224 3810 )il th 173,225 445 B 45 5] ET 4,651,657
6 |mEmERERX 26,582,211 B 157,792 0 3,759,555
7 |EEh 22,790,604|484£H 100,148} ;M AT 3,474,183
8 |E®mhm 16,755,986 FHiE 57,915 R &I 1,747,338
9 =@t 14,255,948| & X T 42,770 FE fia th 1,514,937
10 |50 AR +EEEHT 11,739,945| 7 = 32,8100 1T 923,874
11 o)l 6,272,272|BAR 32,423 &% 800,823
12 |F¥Eh 5,979,434| e 27,090| FE &5 T 777,823
13 |1k AR & FRET 4,899,992 | e % A1 #5 A] HT 25,263| 7~ #5 £ L ARET 602,446
14 |FHR™H 4,233,925iM AT 23,000 FHEHR 599,401
15 |fFFh 4,072,239 mnE 20,958 7 i1 BRE X 595,027
16 |BAFET 2,456,308 F T EHEKX 20,322|BHE ™ 511,213
17 |=Kh 1,787,665| M FE ML X 19,121 =EH 378,667
18 |7RTEA0 L ARET 1,680,051 |#F &KX 13,090 ## F T FG X 255,224
19 |FahsTHh 1,641,204 EHERX 11,028 =K 220,659
20 |hn ERFESEET 1,536,004 283k 9,221 F kT 201,685
21 |ER™ 1,302,260 = BT 6,680| 1 F th EKX 177,230
22 |2REH 1,256,104 2 & 4,297)fFE AL X 108,002
23 |meamh 935,066)/NEF T 3,969 = fd] 77,529
24 |wEmHRREK 904,100) 7~ FE & L ERET 3,650/ Ep T 65,058
25 |fnERm 792,751 | FE P REX 2,994|f=2 DT 60,049
26 |wPEmEERX 738,121| =K 2,850 FHKRZE LT 31,773
27 |wFMmERER 714,647| 3275 R FTE R AT 1,827|F B 24615
28 |/hNEFTh 609,327 40 &5 AR % EE BT 1,569 0 & AR 25 B ET 22,767
29 |#MFEMALX 307,693|:% & 903k & Th 11,497
30 |ZAIERZ mIET 306,968| MR T EERX 887w ARt I3 BT 11,075
31 |[HFEMmERAR 289,910 #4115 B 45 165 BT 639 3= 77 AR Fim 5% BT 9,609
32 |FHRELT 251,856 FHRE LT 4271k FAER & FAET 7414
33 |FEEM 229,414k FAE}ME FRET 143|mEhEER 6,680
34 WA 226,335| 7 T 107| @ E P RE 5,557
35 |REM 181,750|5R & H 66|5REH 3,394
36 |EAkm 166,198] 2% ] &8 % AT AT 55| % Al &} 2 AT ET 1,200
37 |=E&E™ 161,904t BB 17 )1 BT 24| I AR T ) 1| BT 1,093
38 |HETE#X 119,033 P i X |=E 688
39 |IEEH 109,338|@EdHHLh |t F i X 660
40 |{EREBAFHET 79,047|=HT |EdHbHLlm 53
41 |+ AR )I| BT 60,768] 07 ol=ixmH 0
42 |#FEHE KR 48,408 F o|f#Ftm 0
43 |EEM 30514|FiFHh o|hn#ETh 0
44 D ER¥EA )1 BT 10,270|# F i ZHE X oj# P M ZEEX 0
1/2

ERIE . IO IRN) RS

EIRIRERY AT LB AR




EER

BATRETH CTOREERFANMCDISHEAFTHEEIOIEL (FH2FE)

READERZXIT S

KEBADEMZXNT S

IKEENDKEEYIZXET S

2R SEEATITHHEE EHEXMTITHEHE EEEATTHEHE
[
e mXETH £ (10°m®/ ) MXETA £ (10°L/%F) mXETH £ (10°L/ %)
45 IEhbH Ll 10,169)117& T opIlFET 0
46 & 7,325 R BB K F-HT O} EREBAR FHT 0
47 | %5 EB 4 5] BT 4,157 E A EE =M 0= A ER & <HT 0
48 |EFHEBEXHET 1,927 |0 e ER FR S AT o hn AR A SSET 0
49 |EFH AR R ET 1,435) 1B ERSE 44 ) 1| BT o)1 BERSE 4 )11 BT 0
2/2
EEE - IO RN) RS BREERVC AT LBREMREHR




